S 7 EEFHMY FHEPEREBITEFRER (R70310IR7EXR) HIFEAZ 205H (3€ 197 H) <1FEI71H  2%WIs2H  3FWAS2 (44) >
B 4 A (168) 5 A (208) 6 A (218) 7 A (148) 88 (5H) 9 A (20) |8|8| |10 B (228 11 B (178) 12 A (188 1 A (168 2 A (188 38(18H/108) (B
e TN
1| * =] n % B 1] 1]k 3t A A =g a a 1
TERES eSS
2 [k & B X Eis X 2| 2% a n % B B 2
SEFEMRER EATHERE
3|& tmreen X * B K 313|= Al xftoB x + IS S 3
FRHTE BiEASRIZIRILA 1,26 2 FHBBRT A
4| =] PEoYe =) Klgamu & A X 414|x X N K 7K 4
BN TR FHMRERRIBBAS 1,24 2 FHEAERFT R b BESEIH(1,24:2h~6h)
51% AlzesmB KlgarU x X & 515(8 7K & ES 5
FRMTAE - Kk PESTENTE Y =EWHO(3F) EESHA(1,26:2h~6h) | | AsreHRmEREE
6|8 K peoopiREHE | ®|EEREIEXS B K + 61614 x t LS = 6
FHR—hTRE =E@H(3F)
7|18 X TlEEEress A N =] 7| 7|Xx & =] K x * 7
TREER - AZR FHR—HTRE 2¢E3davs FABEAS #RERL HREER
8|« * B X & J= 8| 8 [x|m sz raxa A x 8 E 8
BEEL - HTE BERE 2¢E3davs FAELEAS FEHRIR2AGER 3E RERTAN FER FER
Y [K £ B|\mezzms K Eis X Y| Y | K| mmxaTmEa =| U3 BP0 A 9
TaRmmE BEEL TR 2¢E3davs AHERR FRAEAE 3 SR fRE
10|k Eis n * =] K 10| 10| & A K 3t ® ey 10
EREIIRERQD S A s S =) 4 BERIIEE AOKERS =E@HO(3F) 3E=E@AO FRABAME 4 BERAIZEE
kS B x Blwos * Rl = N FEmlpEgarem) | R B X mEEEOH Klganb 11
$3-U7byy194-H(~16H)
=EEHO(3F) FHRREES(1,26) 3 3FHFERTAN
2+ A w + X = 1211218 S ®|3E==EHO Rl mAoR K1 2F—g= 12
$64E HEZR =E@EHO(3F) 3 IFHFERTAL | |BeoEEIRESR
1318 U 2K : AR 8 X £ B31131A] Zk—woR x = U 215 2F-—5= B ((1,26EmR0 R 13
B C1-1.210)
ABRSRIZIBAS 1 F—5=
14| B | apseaprmme K Eis A * =] 14| 14| 1 2| mroA =] K Eis Eis 14
3EEETS 4 DERHEE —HERIE RIS 4 PSR IR
15X | amryzpaecsT) & B N mier & A| mzoR 15] 15] + B X 5 B 15
e
EEBNRRD 1FHARRF R HESTRE FHIRAMS0S x 3 38 RESTAN PRI 4 BERRIE
16|k & A K * X 16] 16] K =] X &® Bl1gEx+—#=irang |B 16
3ERERS - FRRRAE FHARIBMES0I X 2 FRIIEE R RIRIBAS (—THERzTER) BNTTHEEESEIREEIRN@
17| (@ - #PBT:AM) + X K|+ xims B x 17117 & X * X { 17
ALEBNAERG
BB A ) pREE = e FERSHH(2%4:2h~6h) BN EREEEEHRO
18|& =] P & A & 18| 18| & X * =] kK K 18
FHREFAS PR FIEAS FAZHREE BESHE@FE20~6h) | | FHIRIEHE 5 BREE BNATHREAEEHNG | [FRREES(1,28)
19| & A N BERL T |FEmyrT>2I257 /0L | N 4 19|19|8 7K A KR|3EmEm N 19
FH kL PR FEAS FA—mEL
20|@ n £ [ =] K Eis 20| 20( 8 * 3t K & 2| =508 20
BREERR 3F  BFRIT FAZmPEEFRE
21|8 K + | mEE Al wsos * =] 21| 21| & =] K Eis Eis 21
3E BENGT FHIRATH 4 B
22| * =] n % B 22| 22| % e BliaaeTt * =] =] 22
3 EFHT =HERBR(EFE) Bz O)E] SHEASRIEHES0 % 2 + SEASKIGHA 4 ISRIISEE
23K £ A %S t Al #ooR 23( 23| & B K| xismiz & Bl ==msnR Blweawr 23
RESH =SETHR(23F) R e e FHIFRATMES0S x 3
24K PEREES Ei= U =] X 24 24| & Al pmmosiEEkE | KX T\ nhiREEEEdR | X X 24
3 sEED
BRI =SETHR(23F) BER AR FOEREDH 36 2 FHEART R N 1E/\hIREE A AR 35 WRRIET FHIFRATS0D X 2 +
25|& B X B | eEtEes0x3 |25 £|xpamE amg (X H x Kiximen 25
BRRL STAELERERAY:
aRkE FATTHFIR - Kk 3 2FHIIRTR N EVNVES ETR
26 A x Eis P £ paEE50X3 26( 26| B K A A|1,26 3mERT2 N | K 26
BRRL
FAZHTAR - 2K BN
(8 X £ B X + 2712718 amg wmE4E | * RIS EEADER | ®|1,2% 32meesT 2 |8 27
(~2/10)
= BRI (2F) 3F BRRTANO FA—HTRTEE
28|8 K Eis A & =] 28| 28| % & =] K s s 28
ZE@RPR(LFEF) FHMEL - SN
29| x| mmeos * =] K & B 29| 29| % e * =] 29
BEFHIRRHE (CBT) 1R TR b =SETHIE(2FE)
30|k & A K £ ® 30| 30| & | w & A 30
31><j: ><7:< = ><31 s1|2 ><7J< + x 31

2025/4/11E /K



